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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any five questions: 2x5=10
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a) What do you mean by bivariate data? Give a
suitable example.
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b) What is bivariate frequency distribution?
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c) Draw a suitable scatter diagram to represent

positive correlation between the age and height
of a group of students.

RIqWd GFI6 AP B! G TS LIS HeoA a6
@oliE Toigifore T & @I Toige e foa smw
F@

[Turn Over]

d) Distinguish between correlation and regression.
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e) Write the formula of a linear regression line and
interpret it.
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f) What is meant by an Index Number?
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g) Mention two important uses of Index Number.
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h) Why the rank correlation coefficient lies between

—1 and +1?
Grifeles Agafadn wditEs 7=el @ 1 ¢ +1 a¥
ey e w2

2. Answer any two questions : 5x2=10
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a) Write a short note on the methods of construction
of Index Number.
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b) Find index number by the (i) method of aggregates
and (i1) method of relatives (using arithmetic mean)

from the following :
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Commodity Base Price Current Price
Corn (B8) 45 51
Rice (Ble7) 35 47

Pulse (®ie7) 90 115

Wheat (53) 54 73
c) Discuss the properties of correlation coefficient.

d)

3. Answer any two questions :
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Prove that b, g¢b  =r" where b, and b are

respectively the regression coefficient of y on x
and the regression coefficient of x on y, and r is

the correlation coefficient.
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Distinguish between Paasche's and Laspeyre's
method of index number. Calculate the price index

(using both methods) from the following data.
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Commodity 1979 1980

g Price (Rs.) | Quantity (Kgs) | Price (Rs.)| Quantity (Kgs
wIs(BT) ATl (5fE)| wr(GIen)| Al (wfer

A 20 8 40 6

B 50 10 60 5

C 15 50 10

D 20 20 20 15
4+(3+3)=10
b) Define rank correlation coefficient. Find the

Spearman's rank correlation coefficient from the
following data : 3+7=10
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Roll Number of Marks obtained Marks obtained
the Student in Physical Science | in Life Science
QA FF WA | coTe Rl Al 997 | Gl el 2l 753
1 90 76
2 74 91
3 59 64
4 92 69
5 35 88
6 79 57
7 60 85
8 88 97
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c)

d)

Let Xx = 24,3y =44,3xy =306, Ix* =164,
Yy’ = 574 and n=4.
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Ty’ =574 4R n=4

1) Find the regression equation of x on y from
the above data.
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fojefar <pal |

11) Find the estimated value of x when y=10

X4 ST o1y e S0 749 y=10

111) Find the value of regression coefficient of y
on X.
y 938917 x Ao 7gel e Tl |
6+2+2=10
Find the (1) Pearson's product-moment correlation
coefficient and (ii) its standard error from the
following data : 7+3=10
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65 163 |67 (64 |66 | 70|95 |61 |59

69 164 |70 (62 |73 | 67 |99 |65 |62
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